Time : 2 Hours h
Instructions :

(i) Each question cames ONE mark
08 DA% a8 érdazr Soch.

Booklet Code : B

‘Marks,:80

(i) Choose the correct or most approprrate answer from the given optrons to the followrng'
: questrons and darken, with Black Ball Point Pen only, the corresponding.digit 1, 2,3 or 4 in
the circle pertaining to the question number concerned in the OMR Answer Sheet, separately

supphed to you.
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SECTION A CORE SUBJECT

1. The power factor of anA.C. Cll‘Clllt is grven by

R X
O @ 5

6y

X

WhereR Resrstance 7= Irnpedance andX Reactance

2E Q.2. od:vb?gé? o‘:boéz, a;55 3‘515&‘0 éa @o& e’ o& (Odogz'i)coao&?

. o
(4) R

3-B

R @ @ Z @ £
Z : : X lsos R4
R- D6sg8 B, 7= aooaS‘J,X 6055@53 = S
)l Form factor of sine wave isgivenby
|48 SIS Gy, PR FFOS0s o
1 1414 @70707 .('3') 1.11 ‘@) 0.637
5 3 Anosc1llator employs ‘ feedback I. . = '
' co(l)y - Positive . = ini L (2)' '-aNe'gati\'/ev :
(3) Zero . oo e (4) _ Infinity -
' zgé @S ertes* ara o&argg fD(b?'; = ‘ 4
1) da”ejéé (2) Gowas
3) »“’9-‘.501 - (4) " o080
PTO.
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‘4. AP-Ndiode conducts heavily when it is

(1) Reversebiased - | ;(2) Forwardbiased

(3) Notbiased | (4) Operated at 0°K. -
28 DI 65033"5&5‘ Qajéo o 3653595 @mmo enifpeod?

(1) 858 wosrds jas® N ) a»cssg 0SS oé’éeS‘ '
(3) 9 2osrS afcs;s:aj& . (4) 0K earuis 58

5. Atwhat voltage Germanium (Ge) junction diode will start conducts.
28)0a%0 (Ge) aaoéS BBrES* &68 3E Jedogs @5&0;5660 =0sen @@éoo&.
(1) 0.7V (2) 03V @3 v ~ (4) O. v

6.  Which ofthe following circuits give an A.C. output with d D.C. input?
(1) Amplifier and Oscillator A
' (2) Oscillator and Inverter
 (3) Oscillator and Rectifier
. +(4) Inverter andAmphﬁer
& 8od J‘X)QS" 20 8. aSoQ)éS- S00d 2% @;ﬁ)éig)és o.mooo&‘?

(1) eog';g&éaaoﬁw s_BLE

Q) edBEE $00%m aSSEET
3 wBB0E 53005 BFRE

(4) aSSgE 56050 GoTHE

To get a stable voltage or to regulate the Voltage which of the followmg d1ode is a better

.\1"

option? _

(1) ‘Schottky diode |

(3) Bidirectional diode
2,8 ROV .82 (Bo) .8z R)oﬁao@éea)& 3 G306 % §od TIS* @&é @033"(3:65'6?

'(2) PN diode
~(4) Zenerdlode

(1) EEERE - (2) 2.05. 6376
(3) BB da (4) e85 darE
4 -".B
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The output of a full wave rectifier will have a frequency of Hz; if the i'npﬁt is
V =20 sin(314t) | ' | : :
o8 DS IS BEPS% V.=>2‘O sin(314t) '5259“9)&5' ow&t)éi.’acjéo.w&) éé)éﬁ@és @:33&}3 Qoé?‘
(1) 50 | (2) 10 ~ (3) Zero 4y 100 .
9. The speed ofa D.C. shunt motor 1hore than its full load spee'd can be obtained by
- (1) Decrease in field current | (2) Increase in the field current
(3) Decreasein afmziture current (4) Increasein armature current

&.. aoés JoerS 2‘3r¥°&)a1 cs**&)al qgra 6‘55 360 éoé’:’i .Déogjém Der ﬁodé;ﬁoy

{,(1) 5§ €30S shossdo (2) cpeg' ol o0
" ) wByS6 $3085 Sfosdo (4) gay;ss €3065 hodso
10. Themotor Wthh can operate anD C as well asA ) supply‘7 | o
(1) Inductionmotor T RN Universal motor
(3) Hysteresis motor - 4+ (4  Synchronousmotor -
- Léoa a"’&)eb“ Q Eréré_ a8 aﬁoaofm DB, DS BEBT R DAV
(1) aoags arers T A Q) oSS 3rers
3 ighns 3rirs () Bogss IS
11. The mechamcal power developed by D C. motor is equal to_

() _Armature current x Backe.m. f.

(2). Power input — Losses g

(3) Power out'putXEfﬁciency |

(4) Output power —Losses
8.2. 3rtrsS’ ﬁéﬁbe 000 ofuvo@é @&ggm:&; aer waeedov

(1) es‘éyﬁc‘i_ £00¢5 X 2:]"85 a. ,,)53 o)@
Q) 2598 555 — oD

"'-’"(3) -@sﬁ@és 356 x IpnABY

(4) “6HEDE 555 — DS

PTO.
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12. Wthh of the followng C motor has hxghest starting torque‘7
(1) Shunt - (2) Series
o (3) Long shnnt compound | .. 4) Short shunt compound
D 85 Intr6 g, $OOK &8, GROBET) IS S0en0d?
(1) D085 P (2) 565
(3) ookl 5“033"05 @) 2Bl sorr

13.  The field coils of D.C. generator are usually made of

(1) Mica iy " (2) Copper
(3) Castlron : L ~ (4) Carbon:
8.2, BSGLE BooE), OF. S"OJJQ% @nc"oeaom' a9 éoﬁrooi%@do?-‘
- (1) oo . o o ; “ (2) “on
2 (3) S‘go socSS | Wotis : '. ‘(‘4) »s"de)'S

14 ' The number of armature parallel paths ina 4 pole D. C generator havmg lap wmdmg 1S __

28 oD Bo&oh— §é’)€6 4- 5‘6 c‘§ 2 aé‘ééo&s‘ ‘DQl @'6&7.55_ 3‘*(5@5 3°e‘33 ﬁoérow?

M2 @4 N s @

15.

When the turns ratio of transformer i is 20 and the prlmary voltage is 12 volts ‘the secondary

voltage is ~ volts?

@J*Sﬁ)@'dgﬁ o"c’méz; So&ye (éo@\)) &)‘q‘)e 20 a’n@ofoa @°c‘;5§b§ é,éﬁa 12 V. @oaoéo)jéo o
858D L2 (V) dog? “h -

w12 @ 120 @ 240 @ 2400

16.

In a C. T (Current Transformer) Wthh of the followmg is correct? N = Prlmary turns

N,= = Secondary turns

& BT RTES Gty s 0¥ mam (N ) SoB0s &Séoﬁo Sodge0 (Nz) @Q)oiéoajcso

% @o&, et 2O coB(‘Sév

NN, O NN, @) NN, @) N3N,

6-B
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The full load copper loss in a transformer is 400 Watts At half-full load the copper loss wrll

17.
be _ Watts. '
28 @5‘3&6&’56‘ @5 6‘5 swg o0 . 400 @wmj@ o 5H- @6 eS‘S s*uo&r«o Doé?
(1) 50 | (2) (3) 200 (4) 400
18. Wthh of the followmg transformer should be manufactured to have the Jeast posmble iron
© loss? | e
(1) Distribution Transformer ©~ - (2) Power Transformer :
(3) Current Transformer B “) Potential Transformer |
& Léo& a%‘i)eS‘ @315‘3@“6&)&63 @e‘sgoé é&ba’) PSS @080‘ éoirﬂdaaoﬁaa’)oco 000od? »
7y &towgas @J‘S“)a‘dég RN @ 536 LrQFES . |
() oS eryFys - ?ff‘ @) TS egons
19 Buchholz relay cah be u_sed'ontly-inl" . ::‘tranéfonrrer. LS A
(D Welding' R (2 Air'cooled_
(3) Water cooled | @) il cooled
O EHPOS wEG 0850 FEsn? o
S ger N ) dans g
(3) 05 seg ,=_Ne“ﬁ(® oS &g
20. |

The range of efﬁcrency ofa two wmdmg transformer. .

Bodd So&ofex £OAS @315‘\)3"6&5 Da«loﬁab“) Qo ﬁoéémy

21

(1) 50% (2) 0% B) 95% . (4) 100%
The core used in high frequency transformer s usually. . 2
‘(1) Copper G U L@ CastIron SR
| (3) Mild Steel (@) Air .
T Swom @aé @Bogg)‘\) §é’)ﬁ«6 @15‘\)&6&565‘ e&mo&vﬁofﬁ §‘5 Q&? 7
(1) orh _ () 558 065 3
@) BOEFS w8y, S (4) mo
P.T.O.
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v | - that of 3-¢ induction
~ 22. For the same rating, the efﬁc1ency of 1- d) induction motor is — t | ) HotE
motor. :

(1) less than (2) sameas (3) . mOrethan o (4) 2““}“

o Bi0f 898 1-¢ 20dES Frirb IDRHA), 3-¢ RodES IS éa‘; )

(1) 858 - (2) s5essm (3) s (4) (3o ot
© 23. Whichmotoris employed in Washmg machmes?

.(1) 1-¢ series ‘ (2) Re31stance spht phase

(3) Shaded pole | (4) Hysteresis

& (808 TS D Beroo T20RB0RSS® TREK? . |

(1) 1- d) D8S ' (2) ORI NE F

() 2as >5 @ vgsus

24 ,The ratmg of an alternator is expressed in ___
: -éfleaoseéos oemgz, '6&30&‘63 aee‘ wee»dav

W kw @ P YA (4 kAR
25 Damper wmdmgs are used in alternator to : i = it
(D Preventhuntmg - . % (2) Reduce windage losses
(3) ACthVC synchromsm RS (4) Reduce copper losses

90523&56‘ w"ooao' Boéoﬁiéa ‘DOCSJ& &acﬂrh@*’dﬂ

(1) Sro3ofss ae‘eomem ' (2)_ 0B B0 ShoK
(3) DoEduS: Fodetoly @) THES énom;& '
26. A synchronous motor delivers reactlve power when the motor is
(1) Over excited | - (2) ‘Under excited
(3) Normal eXCitation (4 No ex01tat10n is °1ven
2.8 cooL§‘$5cO Sers 6025:°§S 5565 onéa SEHT Bdod?
(D @éﬁg@g (_9365’9560 03313)‘):‘5033@) (2) @ése)s L,,)égg“sa OQJ'D‘_);SQJ@J :
B)de (RO andysseg, (4 dsos Boo® coggstygy

.. 8-B
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Inan 3 ¢ Induction motor, if air gap is 1ncreased its-

Booklet Code : B

(1) Speedwill be reduced . , (2) - Po;rﬂmtor will be decreased
- (3) Efﬁ01ency will be unproved (4) Speedwill be 1ncreased
~ 3-0 2088 Irerb S0 Qow&vgooséo ooi’)ézﬁ‘
(1) 3o Sy . (2) %56 svggs S35
() vnang 1KY @) 3o acﬁo(i;séo e
28, A4 pole, 3-¢, 50Hz Inductlon motor may run ataSpeed of { "r.p.m.' L
(1) 1500 (2) 1440 - (3) 1550 B (%) zero .
2 4 36, 34, 50Hz 20dE5 Irtr§ o D N é'édﬁﬁocio? i
(1) 1500rp1n (2) 1440rprn (3) 1550rpm : (4) mélrpm
T

29

‘Which of the followmg power electromc device is used in speed control of motors‘7 i

. (1) Zenerdiode : , (2) .LED:/
(3) SCR. .  (4hLED.
& 8od TS* J H36 Qost%" &3:0:‘63.55‘6.7‘63 o&uézr 38 &)oﬁao@e&)eﬁ'ﬁ ﬁoo?mﬂoﬁédo‘?
(1) #366878  AD) d6as
(3) Wpwes - : 1(4) 5.2.8

30.

is

‘The frequency of rotor currents in ,a—'6-pole; .SOHz, 3-¢ InductiOn mptdr runriing at 950' r.p.’m.

&8 6- 2, 50Hz, 3- q> aocsés 33‘&:16' 950 rp m. 360@‘ @63&3:6@3653 cr&) 5‘&?5@3‘ @vaossa
£ot5 : 09)265533 JogTRN . . e |

(1) - 28Hz: i (2) SHz AR (3)~1‘5H'z- - .(_4) 0.05Hz
3L "Instrument used to measure msulauon resiStance is LA

(1) Ammeter g g Q) Voltmeter -

(3) Wattmeter B . (4) Megger

' am‘baqs &o @S“)c‘éa 5‘0;5@'{0@ ﬁacﬁrﬁoﬁo DES50 D87
| (1) @bo&mo NN ) ambmda- T

o SBB0G () mofs

9.B ‘PTO.
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32.  The luminous flux is measured in '

(1) Lumens (2) Weber (3) Ohm .(4) Gauss® .
orgBosD I BIS Foodndd? | | o )
(1) emg () 36 (3) &5 R

33. Anammeter as always connected in ,
(1) Series | (2) Parallel

3) SerleS-parallel " (4) Across the load
28 9K QDY e @Eéooocs‘f{)@‘d:? | N
(1) %85 (2) S
(3) 585->80S OB wgom

34, The 1llum1nat10n ata point 6m below a lamp is 15 lux. Calculate the candle power of the lamp?
Lo a..é 3)(25385 &ao @ocs 6 2. cirdoes‘ ﬁé‘l‘éo@s:&‘a a’)cS 15 oF) amgaﬁas ﬁéﬁlﬁ‘ o éa;’m
| s"goaef 56 dog? : : NS x

® 9 @ 540 NG 4_54 @) 270
- 35. . The resistance can be measured most'accu'rately-by‘ |
(1) Volt-Amperemethod " (2) Bridge method - -
(3) Multimeter W\ (4) Megger
B DS‘Q‘@J a‘o*“a)é)t)éorh'éa L%o&} a°é0e5“ agé’é cs:gG‘ ?oééxﬁoy
(1) &g-wonos 2E8 (@) »g aga
(3) Hhls o @ 36

36. When the sodlum vapour lamp is switched ON, 1n1t1ally the colour i is
P (1) Plnk @ Yellow - (3) Green' ' (4) Blue
| aﬁ‘&oﬁ:o 3o>5' U‘goaéo (055 TN Zﬁaéajc& e 2 o 508 Béaeen:fn‘?

(1) mera | (2) | 599 ) @&mﬁ‘) (4 500

10-B
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37.

. thch is the main type of distribution system in India?

| V 3 - Booklet Code :

(1) R_ad1a1 - (2) Series  (3) Parallel @ Or‘thogOnal :
i EEBH0S & Eob TIS' DB BEFS Doded S8 GreS0? N
(1) %6aHS  (2) ’@95 L (3) sSvess  (4) egsS
38. A single unit of PIN insulators are normally used fora voltage of
| F) aS(\)ééodo (28 oﬁw&)éﬁ‘) rZJ‘crdeoon"’ Qoé 582 368 a‘éézﬁo‘)éo‘?
(1) 100kV . (2) 66kV | (3) 33kV A C)) llkV
39 ~ Outof the followmg whlch is the conventlonal source of energy?
(1) Tidalpower . A5t (2) Geothermal
(3) Nuclear L s '(4) Wind
& 8od aoaes‘ 28 Fogarah ae 38677 AN o _
‘) sss R O N S
@) seggews (/008
| 40. The proceSs of converting s'oll'id coal ifito a fine powder is known as _
() Carbonation 5 AN (2) Milling
(3)  Grinding ' " (4) Pulverisation -
BSETD 23710 mé&droo 83"&{? ;33"60‘) @@0253:63 95530653639
(1) s&i3as (2 YK
(3)'@059‘05 5 g N @ SogOBAS
41.- The re31stance offered by a conductor toan A C supply 1s approx1mately 1.5 tlmes that of D.C
- supply, because of K3 | _ .
(1) Ferranti effect =~ . . (2) Proximity effect
. (3) Doubhng effect s (@) Skin effect - -
&é éocsés o?méz, .2 &)5‘(5;533 a9 &)5‘(.5533 gom) 1.5 0én Q&bén‘ ﬁodw&m S°deao Q&"
(1) 2008 IDE . et (@) @3'5“):.1)&3 o?pg '
YE) daaoé)oﬁo) g @) w5 v
11 - B | PT.O.
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42. The water hammer occurs in .
" . (2) Penstock .

(1) Surgetank
3) Turbine _ 4) Drafttube
& 808 TIS* T0E @Sgasos 3S* Soothdoob?
(1) (og 63*05 _ (2) S FE
3) &9)S 0 (4) @] Lorgd
43. Which type of éxt_inguisher is used to put‘off électric'ﬁre?:‘ :
(1) Foam | - (2) Sodasacid
" (3) Carbon-dioxide . (4 Water
& (508 TQe* desogSs S0 =6k @5&65&306‘ 530&.300 ao'c‘smsoajéa . : @h&érég&oféo
2 aoo’mﬂoad& ‘ ‘ NS : - '
6o ;aacsm 5 i (2) zascs» ema»
.(3) S"CSQS aoﬁa@ﬁ RSN | (4) foda

44, Two wires Aand B havmg same cross sectlon and made u up of same material having re51stances |
6002 and 100Q respectively. The nunibeér of tlmes Ais longer than B : |

P @ég?é 3%"05533 EORX, o8 SEJS awgc‘&oé“ éoﬁrdoz'ﬁoﬁoaa&c‘é Aéo&oﬁao B. &Ke
-DC&)SS QG EER0 ASCSO:O(T" GOOQ 835605:0 IOOQ @033265‘ Aé‘éﬁ PEY B &% @‘Cé@ §OE§ o)&h '

- Bén. @és’o‘? ; : _
wes v @ @ s
4 5.. In case of short circuit, _ currént will flow in th;:..circuif. |
- (1) Zero 2) Verylow () Normal (4 Inﬁmty
&5 &d;v&_gés_ asaﬁéoojdo ;acsogé‘ @mmo éooﬁooei‘ @5mmoa
- A(l)_ -“”’“‘Scl : £ 2) we 595 (3) 3‘(3‘5900‘ @ .@c‘éoéo»4

12-B
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46.. Five capacitors each of SuF are connected in series, then the equlvalent capacrtance of this
) combination is s e o
05 8.8 SUF ci‘ﬁ‘éaggo EOAS a:ci) ’Sﬁwéoéc‘éo Be8e® wSog)Saydo @ @b Baoééoa ﬁ"éaggo‘
(353“@550)) D0es? : | :
() WF . (2) SWF | (3) 10pF " (4) 20pF
47. The pitch of hacksaw blade is | .
(1) - Number of teeth per one cm
- (2) Numberofteethper L mm
(3) Distance between two adj acent teeth
(4) Total number ofteeth = _
msn‘eéﬁ ooy, DY oIm W | ¥
(1) e Rodantbes™ Soso ’(ooaog B
Q) ef DdMLEST Gosrs Sowg |
(3) ©EHEES 93 Toth Gosvo SaGg Ergo |
_-»(4) Eaaééaa Sosre K)ospg |
48. Two resistances 10Q and 20Q are c()nnected In parallel across a supply Voltage The
| combination carries a current of 15 Amps then the current passmg through IOQ resistance
will be? : Ao - )
coa’moédon‘ EoddS 'c}océo R)S‘déaooo 10Q2 aﬁoao:iw 20Q WSG" @émo:ﬁo 300@50 365355
S Pado 15A @osoé @5‘(5&&:0 10Q cs"ogo‘ @éa‘oﬁo ‘;’)65385 Q0es? | : L
(1) sa f @rl0A ON ) 15’A
49. Lampsin street hghtmg are all connected in_
(1) series . . R R v paraliel ;
(3) . series-parallel . OIS (4): endto end
A6 BFrookssn B8k @a’»dat) ocs:,gs AR ISR e @E&moa‘c‘ss’m ae»w
(1) FeBes® p 2) wésvoédon" et
(3) - @sﬁ-éwo‘édorﬁ" S ‘ .(4) aaécrét) éo*:sé aaééS
i3 B ‘PT.O.
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50. The potential difference between points A and B of the figure shown below

808 S0S30es* A H0050 B 508g8 dod 482 w0twod?

3A 6Q 8V 3Q 6V

X | L
A o ——AW— —W— o B

1 12v. @) 24V 3) 18V ) 29V

51.

During charging of lead acid cell

(1) its voltage increases. -

(2) itgives out energy

- (3) its cathode becomes dark chocklate brown in colour

i (4) specrﬁc grav1ty of electrolyte decreases

-65 ofmco&; argéoé&) zrooﬁ Bo‘.’m @&’)30535336‘
D) _w&) 82 kS '

(2) 483 a@,oé

B) & =356 @6, TEBES @S BorhSs Srodo
4) Qe;@‘@_éﬁ_ g, TPDE, (PO 6(&22&3 o

.52,

The current ﬂowmg through a battery would be maxrmum when the external resistance is
the internal resistance of the battery

(1) lessthan (@ equalto
- (3) greaterthan . @ double.

2§ argéoéé" @50 Dc‘.&;ge‘s_ daaom ﬁocs"esoB aa%rg &)5‘(5533 ergéo& ®O§b @oég
‘EOG‘C.S&SJO@‘ NSk : |

) sspgemd . () dsesom wome
A'(3.). ‘as%z,;é)ocs"é') R - | 4) ,00& Bty womd

4-B
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Which of the followmg has longer 11fe‘7

Booklet Code : B

55

> (1) Alkalinecell (2) Mercury céll
® Carbon-Zinc cell (4) Lithium cell
. & 80 FS° @ég&»é £S5 00 ée:&‘? | |
(1) w085 25 | 2) BoEmg0 DS
(3)" 58)S-208 DS (4) &0 DS )
- 54. Miniature batteries are used in - B, ¢
(1) Calculators (2) - Mobile phones
3) Satelhtes o @) Submarines .
Brgy argéoée::éo pUX: ﬁaoﬁrﬁr}’cﬁo? | 4y £
(1) e abogo T 2) wea
@) r’sa@ioﬁw () Berosorsnes
The resultant effect of o'ver':cha'rgi-ng and over disch'argir‘lg of lead acid batteries is called -'
as ‘ T - :
" (1) "Gassing i (2) Su1phation A
(3) Buckling. (4) Crippling
B& Srv& wgéaéo:ﬁa @é’am @5 3’3360533 eaé’ém 89:3"5 z':'iotiocSo a’m Qéoé)é’wo@"
(1) m™gdoR S(@2) aEﬁQQS
() wBoR | NO) Léo)oh'
56. The Spec1ﬁc gravity of a battery can be measured by

(D) Anemometer (2) Ammecer e
- (3) . Hydrometer : : ; (4) Energymeter : ‘
‘33‘5&.)8 oﬁoaéb BN Lrv:)éS&) 30&* 's"e»zavda? S
(). ddbboes Q) wboyt
O s @ dusgioves
| T P.T.O.

Scanned by CamScanner



Bobklet code:| B

| , | | ‘ l o
57. Which of the following magnetlc material has maximum magnetlc permeabl 1ty (n ) .

(1) Ebonite - (2) Alummlum

v 7

(3) Steel (4) Copper
& 808 JS° @és’ éwiléﬁ 038&)05353@8 (L) 808?
(I) e5°3¢5 e : & - (2) _@emgé’b@oéao
3) & S @) on
58. Water is s magnetic in nature. ‘_ P iR ‘
‘ (1) Dia - (2) Ferro ~ (3) Para .. (4) Ferri
D% D ©cHAYod o Sob? | | i
(1) &osr @ »& - () e B »é
The critical temperature above which the ferro magnetrc materlals loose thelr magnetrc
property is known as | ‘ N/ : - '
M Hysteresm B (2) Curre pomt
t(3) Trans1t1on temperature /4) Standard temperature LS ot
6 B0 ST @oﬁo:&*boé b¥res SN B8 SAESS BOe8
1) 605 T () Srgh Dot ' |
() sogmm eqes (@) @sas eags
60. The value of inducéd e.m.finan eleetromagnetic circuit is given by: :
- Doy 8 @Sy 08 S06H06!. #E)Do IS T werd) QED0H HAoEBwo B? |
LAY NN LB dg
(1) Wy O g TR o) Temig
| = The law which states that induced e.mn.f always opposes the very Cause Oflt was dlscovered

by_,,.__ ¥ .
ﬁ(ﬁgé’)o@‘é :065035 o weo c:s‘&) ﬁe{)é’és‘ds‘a’l ége’é‘ééom;&) @&) @@3"&0&;665539 :
16-B
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62 Calculate the frequency and time period of an A.C. wave represented by V= 100 sm(628t)

= 100 sin(628t) eai'bédeaoé‘ &)qgﬂ)ooaaaéeé 2.0 e‘sdoﬁo R0y, S .Q):Sgém $08 050

" 5PON0B SOOI

(1) 100 Hz & 0.01 sec
(2) 100 Hz & 0.02 sec

(3) 10Hz & 0.02sec

4) 10Hz&0.01sec

63. The power factor of ’anvA.C,. circuit lies between |
() Oandl . . (2 -land0
~(3) Oand 1 g (4) greaterthanl
o) 2 :ée)oﬁoo o?méb o:55 3"555 5&3 a’:odges daroéooo&:? J/ ‘
FO) 0msam 1 40 0 b 0
() 0sobosm -1 . /@Y £0B 289
64. The rm. svalue of A.Cisequalto - /£ times of its maximﬁm value.
AQ D B, &95353 9 Dend T ?163 &’)@o;’)& Q&D Béoa &oéo.)o&? ; '
1 0637 WS @ 0707 -
() 1414 L NN (4)vo-.5.
65. The impedance of a co1l havmo 1nduct1ve reactance of 4Q and reS1stance of 3Q at 50 Hz,

| 230VA.C.is

o szoaé‘.S BASrER 4Q S0B0s0. &)5‘&5533 3Q ée’)hé s*oweS'&: 23OV 50 Hz . w&) oooﬂ)tbzsoajcso
AT aoeas‘\) DeNN Does? L '

M s @) 4Q

3 3@ @ 19
e e
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66 The famous dance form "Perini Shlvatandavam" was the contrlbutlon of
(1) Annamacharya
- (2) Perini
(3) JayappaKalyani
_ (4) Nataraja Ramakrishna.
(Sgorges ééaé§drooo. “8e3 %5@0&55»53” @o&oi)é a"da
(1) of)Srarsy | ‘
(2) 583
(3) eraHdy Swrged
'(4) ééoc"es wéoééo“i

67 Lingamanthula Swamy i 1s worshlpped in thls ] atara

=7 (1) Peddagattu

_(2) Mannemkonda Haril 4
= () Yadadd © T
(4) Kondagattu

é’)oﬁa’)ooéoo a‘)jsgba’) éa wédé‘ ogre?.a"do

_(1) o.)CSiié.Jo

@ o s,'_o_éf

Q) osm»@ '
: _.‘(4) §‘oc§(1é.:o
| 68. The state of Telangana launched th1s programme to 11npr0vé rainfall :

~+(1) HarithaHaram . = - ' 2) GramaJyothl

. (3) Mission Kakatlya ' @ MlSSlon Bhaglratha-
L 563‘6"’&?) Boda(baafﬁocsoéa @e;onvea TR e;i:e‘éogo @3%"&3&3:6 H%o
L messce . () s

(3) “0aS TEbsH by B (4) 2088 whses

18-B
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69. Who has designed the Telangana State Emblem?

- (1) Andesree
(2) Goreti Venkanna
(3) Gaddar
(4) AleLaxman

Boorrem T ©RTE DHd ErPoBoDSE IS?

(1) ©0B8§ .
(2) & J088)
. (3) degs

70. Exofﬁc1o chalrman of National disaster management authorlty board

G (1) Pre51dent ofIndia
- - (2) ChiefJustice of India
«(3) Prime Minister of India
(4) Chairman Planmng Comm1ssmn

‘ & L§o& TS ASE 8‘@0‘5& &')aoe‘éo &)6503120 @@5”5 aS‘dgéo Q% @3)3;0‘:1)‘ 5655

(D e ORI
Q) w68 G a#éomwg
3) wosBED
. (4) 20k éb:éS-@ch&m 3

71." From artlcle 19 to artlcle 22 of Ind1an constitution prov1des thIS fundamental right to its

citizens
.(1) RighttoF reedom
(3) Right to Edication.

'(2)‘ | Right to Property

(4) Right to Equality

o8 mesvgoﬁoes‘x) @Géeﬁ' 19 56305'9 22 5d§) éa @qS&’bé a*&)g,c‘éo 3% 3’6)050 @?C)'émo& 4

(D aogi)':) oréozr
() dmg T8y

(2) eaco T8,

(4) (\)53"?66302) J"éoz,

19-B et  PTO.
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72. The Premdent of North Korea |
(1) Donald Trump (2) ZinPiao
,(3) KimJongUn 4) Lin Piao
wEE FOr wgioen |
(1) God @os (2) 25 ok
(3) &S sF S () 05 posrst
- 73. Who startedAmrut Bazar patrika -

(1) Subhash ChandraBose (2) ArabindGhosh”
.(3) Sisir Bose , (4) Ravindranath Tagore
W3NS 36 JHBE @"60@0&(‘685&)‘? |
RORE iSo@SaSﬂo (2)  ®EDIS $5°F
(3) W6 9%  (4) 880676 iirE

' '74 "SwaraJ is my b1rthr1ght" 1sthe slogan of e
B (1) Gandhi . (2) Nehru -
~(3) Subhash Chandra Bose ,(4) Balagangadar Tilak -
(osc"aagaa o aé&msﬁb ©d &)56505):65 R
(1) n'oé | 2) 3o
(3) BoerR iﬁo@aﬁ“o - (4)  wrolorrgs @og
7'5_'.' The author ofAnandamath Novel E
»(1) Bankim Chandra Chaterjee (2) K.M.Munshi
~ (3) Ravindranth Tagore (4)  Mupshi Premchand
6506508 SSor SSond o |
(1) wofBSo wef (2) 3.o%0. $03
(3) .‘650@5&?5‘ o 6rE (4) a’m@d (wowos L
20-B
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76. The lastruler of Asaf J ahi dynasty | _ v
(1) Mir Qamruddin o (2) Mahaboob Ali'Pasha

,(3) MirOsman Ali Khan (4) NizamAliKhan
w3 T 508 D50 Foskd ' R
(1) 6 5085 () Sobars eb .
(3) 6 aa»és @é)ars St S (4) dmo sdgrs
.‘77. The pollutant gas emitted by Vehlcles . ‘
(1) Sulpherdioxide " {2)  Carbon monoxide
(3) Carbon dioxide . (4) Hydrocarbons
THTo 68T Soohd Fohod '
(1) 5353 e§5 (D) FYS Broys
(3) e9S 3 e @ e v
~ 78. Theold dist}riét'of Télangana is ’namber one in cotton production
(1) Adilabad =/ 7 (2) Warangal
~(3) . Nizambad “on @ Nalgonda
- Boorsas® oaé'é &é&@é‘ @(;SSS)@%OES" &) > Ber
(1) @&erar'S - S (2) 5560(16
3) ersirerE N\ (4) Serod

79 J oin Indlan umon call was glven by the Hyderabad State Congress Committee President

(D .Bu_rgulaRamaknshna_Rao . (2) K.V. Ranga Reddy
3 S'wamyRamana.t»ldaThinha‘ (@ Kalji
rde B Do Se* Z)éc‘éo 5553&’:0 ow@&)i’)‘)é mc‘.SU"artS RE o@D @dgéocsa
| (1) aw'dgo D‘&’w%ﬁ;m@ | NS (2) 32) 60{\"6%
(3) ;3;3&3 oSS0 ég R 5 (4) 5¢°S .
‘w-s. - - pro
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80. Which country constitution is the longest written One of any revereign country in the world

(1) America (2) China
'(3) Russia . (4) India
RHo Jros W)OBEIT) DG OPE Trargorio EOAYN) 3%o
(1) o088 ' (2) B
3) oarg (4) 208>
00000
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